
�

�

�

� �/DJͰ" 0�� Uͭ ���� $X��
>�-UFRXVPD� Z

, �� $/)

����ª�= ��9
�� ,Q KLS
+ ����� ,��� 
���



�



il,.56

4(Ect
perisie aporee = 2S00 km abore surtace

V=llous
Suee

eterr aqraitgso
apoge= Z,5ebmt 6.37e& 8.87ebm

50e5mtG.3teb - b8tebmyRrge
Li = Le

Vp AVa
- 8.8feb 6t0/so.2feb
- |B.08-s



�������[��Bͯ>���ͫ ώU|� �� ��

a LQ� �$� K D
�-�U
���a�e���������D�ͭ� >�ͭ��
�a���9���Y�R����Bͫ ���BZͬ ͭ�

������Ψ��Ui�I� �ώE 
 <V] �� Z ,� ����ͯ("�
ͬ D� ͫͫ�ͫͫͫͫ��ͫͫ��q� ��� ������� : Ϗ
PK:� ����� U �� ID@�� ͯ7P . �� ͭ/ 0 = � V�

�

�
��

�

����

�

Z ͭ 
YZ �ͬI
P9 �
 , �B, /� �� /�
>DWKVN �
 ��� � /DE"""

� ������ �� PYͭ 
)09ͭLͭ7ͬP9� �ͭ ͯ
>ID�,ͭ0ώͫ+� U\UD\M 
�� ^�V] 
<
:ͬ/G 
�

, �ͫ �ͬ�� ��ͭ �Uͭ]P P�ͭ

�V]ODPͬ ,EPDLGZ PL �� 3�

�/09�` PU��Z]�ZF!WX� �ͬ ª;�=E\ώELͬ-$�?
W ��� 05 �����"ͯ ���ͭ ,

ODZ�,//'
) /=/0<��V]� PU�=ͭ+PYMZ

#ZϏJώY �����" #��� /J�
WRJXEHG
 :ͬ1QJ]LIEI �$0

ªHIZP LI ����
00 ͬ ���� ���
�: a�� ��Z� ��������� ͬ
068�0 PP�P�"


